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301 BERER(HREREE) 2 8 40
302 BIN—THB (HBEE) 1 22 22.0
303 KELTHERARES) 1 36 36.0
304 E2R_-TH 1 3 3.0
305 wWrE—TEHE 1 16 16.0
306 WrE=TH 2 10 5.0
307 WrE=TH 2 1 05
308 47 EFRFAE 2 3 15
309 tHLERT 1 6 6.0
310 AR _—TH 3 6 2.0
311 IBET_TH&E4 2 24 12.0
312 BIATHE=TH 1 4 4.0
313 fE1EEe 1 0 0.0
314 ARAZTHE2(HBE=E) 2 5 25
315 BMEZTH 3 3 1.0
316 BIAPRAETATH 1 1 1.0
317 EH#H=-TH 1 9 9.0
318 RBILAAHET 1 0 0.0
319 B—_—TH 1 17 17.0
320 dId=TH 1 5 5.0
321 BEIRETHE2 1 2 2.0
322 BME=TH 1 2 2.0
323 BHATH 1 0 0.0
324 NA—THES 1 3 3.0
325 m—TH%E4 2 1 05
326 IdtmTH 1 1 1.0
327 F{EME T H 2 2 1.0
328 ERETH 1 8 8.0
329 HERTAH 2 7 35
330 JEATHE 1 5 5.0
331 288—TH@ERE=E) 2 3 15
332 #$AE=TH 2 2 1.0
333 IFNIZTHES 2 13 6.5
334 T W T 1 3 3.0
335 FHLUE=TH 1 3 3.0
336 ZE—1—43 ) R—TH 1 0 0.0
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337 NELTRETATH 1 1 1.0
338 M)IRETETH 1 3 30
339 MERT—THE4S 1 0 0.0
340 LEZEATHE2 1 7 7.0
341 FHhRET=TH®$2 1 7 7.0
342 FFedbILET=TH 1 3 30
343 tRR—THE%E2 2 6 30
344 =R 1 0 0.0
345 AEHREE1 1 0 0.0
346 J\IBFE 1 0 0.0
347 &®&HES 1 3 3.0
348 BXA 1 0 0.0
349 ETHPETRTHE2 1 6 6.0
350 H#HATH 1 1 10
351 AAA 1 1 10
352 INEHRBEITZTH 1 4 4.0
353 IMNIIFEETZ=TH 1 0 0.0
354 INE{RET 7 1 0.1
355 INIFBET=THE2 1 0 0.0
356 PEETRATH 1 0 0.0
357 PEET—TH 1 0 0.0
358 B LFILET—TB$2 1 1 1.0
359 PEETATH 1 0 0.0
360 HHILEREAET—T B $2 1 0 0.0
361 BZEI—TH 1 1 1.0
362 ETAXR=THSE2 1 0 0.0
363 E2FHNE—TBESES3 2 5 25
364 EMRMTH 1 1 1.0
365 HELIRET—TH 1 4 40
366 HEZAGRNUTH 2 0 0.0
367 WIW=TH 2 0 0.0
368 ®W—TH 3 0 0.0
369 hEFMETH 1 1 1.0
370 ABR=TH 1 2 2.0
371 ME=TH 1 0 0.0
372 BE—21—4aH HhiR—TH 1 2 2.0
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901 HFWL=TH 1 20 20.0
902 BENTHEES 1 4 40
903 BAE=TH 1 3 3.0
904 KEATHE?2 1 2 2.0
905 BI—THZE2 1 0 0.0
906 W¥Aa—TH 1 1 1.0
907 ABZIL—TBE%$2 1 0 0.0
908 BE=THES 1 1 1.0
909 BEFEETH 1 3 3.0
910 REELRET 1 0 0.0
911 ER=THES 1 0 0.0
912 EET=THE7 1 0 0.0
913 BhE_THEES 1 1 1.0
914 BH/\TH 1 1 1.0
915 aH/ME=TH 1 0 0.0
916 ARIMTESE3 1 0 0.0
917 NI ZT BE2(EAREE) 1 0 0.0
918 ;I—TH 1 0 0.0
919 HhREE-THS$2 1 0 0.0
920 X<EET—TH 1 1 1.0
921 WR=TH 1 0 0.0
T [ 121 331 2.7
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